

Confidentiality Requested:

Yes No

Kansas Corporation Commission Oil & Gas Conservation Division

1246167

Form ACO-1 August 2013 Form must be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #			API No. 15		
Name:			Spot Description:		
Address 1:			Sec	TwpS. R	East West
Address 2:			F6	eet from North /	South Line of Section
City:	State: Z	ip:+	Fe	eet from East /	West Line of Section
Contact Person:			Footages Calculated from I	Nearest Outside Section C	Corner:
Phone: ()			□ NE □ NW	V □SE □SW	
CONTRACTOR: License #			GPS Location: Lat:	, Long: _	
Name:				(e.g. xx.xxxxx)	(e.gxxx.xxxxx)
Wellsite Geologist:			Datum: NAD27	NAD83 WGS84	
Purchaser:			County:		
Designate Type of Completion:			Lease Name:	W	/ell #:
	e-Entry	Workover	Field Name:		
	_		Producing Formation:		
☐ Oil ☐ WSW ☐ D&A	☐ SWD	∐ SIOW □ SIGW	Elevation: Ground:	Kelly Bushing:	:
	GSW	Temp. Abd.	Total Vertical Depth:	Plug Back Total C	Depth:
CM (Coal Bed Methane)	dow	Temp. Abd.	Amount of Surface Pipe Se	et and Cemented at:	Feet
☐ Cathodic ☐ Other (Co	ore, Expl., etc.):		Multiple Stage Cementing	Collar Used? Yes	No
If Workover/Re-entry: Old Well I			If yes, show depth set:		Feet
Operator:			If Alternate II completion, c	cement circulated from:	
Well Name:			feet depth to:	w/	sx cmt.
Original Comp. Date:					
Deepening Re-perf	•	NHR Conv. to SWD	Drilling Fluid Managemer	nt Plan	
☐ Plug Back	Conv. to G		(Data must be collected from the		
Commingled	Pormit #:		Chloride content:	ppm Fluid volume	e: bbls
Dual Completion			Dewatering method used: _		
SWD			Location of fluid disposal if	hauled offsite	
☐ ENHR			1		
GSW	Permit #:		Operator Name:		
_ _			Lease Name:	License #:_	
Spud Date or Date R	eached TD	Completion Date or	Quarter Sec	TwpS. R	East _ West
Recompletion Date		Recompletion Date	County:	Permit #:	

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY							
Confidentiality Requested							
Date:							
Confidential Release Date:							
Wireline Log Received							
Geologist Report Received							
UIC Distribution							
ALT I II III Approved by: Date:							



Page Two

Operator Name:			Lease Name):		Well #:	
Sec Twp	S. R	East West	County:				
open and closed, flowing and flow rates if gas to	ng and shut-in press surface test, along v	formations penetrated. Eures, whether shut-in prewith final chart(s). Attach	essure reached so extra sheet if m	static level, hydrosta ore space is neede	tic pressures, bott d.	om hole temp	erature, fluid recovery,
		btain Geophysical Data a or newer AND an image			iled to kcc-well-lo	gs@kcc.ks.go	v. Digital electronic log
Drill Stem Tests Taken (Attach Additional S	heets)	☐ Yes ☐ No		-	on (Top), Depth ar		Sample
Samples Sent to Geold	ogical Survey	☐ Yes ☐ No	N	ame		Тор	Datum
Cores Taken Electric Log Run		☐ Yes ☐ No ☐ Yes ☐ No					
List All E. Logs Run:							
		CASING Report all strings set-	RECORD	New Used	ion, etc.		
Purpose of String	Size Hole	Size Casing	Weight Lbs. / Ft.	Setting	Type of	# Sacks	Type and Percent
	Drilled	Set (In O.D.)	LOS. / Ft.	Depth	Cement	Used	Additives
		ADDITIONAL	CEMENTING / S	SQUEEZE RECORD	1		
Purpose: Perforate Protect Casing Plug Back TD	Depth Top Bottom	Type of Cement	# Sacks Used		Type and P	ercent Additives	
Plug Off Zone							
	tal base fluid of the hyd	on this well? raulic fracturing treatment ex n submitted to the chemical			No (If No, ski	p questions 2 ar p question 3) out Page Three	
Shots Per Foot		ON RECORD - Bridge Plug Footage of Each Interval Per			cture, Shot, Cement		d Depth
	cpossy.			1			3,000
TUBING RECORD:	Size:	Set At:	Packer At:	Liner Run:	Yes No		
Date of First, Resumed F	Production, SWD or EN	HR. Producing Metl	hod:	Gas Lift C	Other (Explain)		
Estimated Production Per 24 Hours	Oil	Bbls. Gas	Mcf	Water B	bls. G	as-Oil Ratio	Gravity
DISPOSITIO	N OF GAS:	N	METHOD OF COM	IPLETION:		PRODUCTIO	ON INTERVAL:
Vented Sold	Used on Lease	Open Hole			mmingled mit ACO-4)		

Elite Cementing & Acid Service, LLC 810 E 7th, PO Box 92 Eureka, KS 67045



Date	Invoice #
10/23/2014	1826

Bill To	
Scott's Production	
PO Box 136	
Roxbury, KS 67476	
žą.	

Job Date	10/22/2014
Lease I	nformation
Beck	cer #A1
County	McPherson
Foreman	KM

	Customer ID#	1124	
lones	Marie and the second		-

		The state of the s	Terms	Net 30
Item	Description	Qty	Rate	Amount
C101	Cement Pump-Surface	1	840.00	840.00
C107	Pump Truck Mileage (one way)	70	3.95	276.50
C200	Class A Cement-94# sack	120	15.00	1,800.00T
C205	Calcium Chloride	340	0.60	204.00T
C206	Gel Bentonite	225	0.20	45.00T
C108B	Ton Mileage-per mile (one way)	394.8	1.35	532.98
		A CONTRACTOR OF THE CONTRACTOR	- Control of the Cont	
	are the state of t	Management of the second of th	Avenue de la	
		interesting		
		Antoniona		
		naprimani Ari	and the state of t	
			A CONTRACTOR OF THE CONTRACTOR	
		To the second se	ų statinininininininininininininininininini	
			a Principality	
		The same of the sa		

We appreciate your business!

Phone #	Fax#		
620-583-5561	620-583-5524		
E-ma	ail		
rene@elitecem	enting com		

Subtotal	\$3,698.48
Sales Tax (7.15%)	\$146.50
Total	\$3,844.98
Payments/Credits	\$0.00
Balance Due	\$3,844.98

810 E 7TH PO Box 92 **EUREKA, KS 67045** (620) 583-5561



Cement or Acid Field Report 1826 Ticket No.

Foreman Kevin McCoy

Camp Eureka

Date	Cust. ID#	Leas	e & Well Number		Section	To	wnship	Range	Co	unty	State
10-22-14	1124	Becker	# A 1		4	1	75	IW	McP	herson	Ks
Customer					Unit #		Driv	/er	Unit #		Driver
Scott	's Produci	tions		Meeting	104		Alan 1	n.			
Mailing Addres				KM	112		John.	S.			
P.o. B				15			35 17				
City		State	Zip Code				h h	April 1			
Roxbo	RY	Ks	67476		1						
Job Type Sa	URFACE	Hole Den	th 2/7		Slurry Vol. 2	8 B	SC		Fubing		
Casing Depth	210' 6. L.	Hole Siz	th 217 e 12 1/4"		Slurry Vol. 2 Slurry Wt. 14	1.8 4					
Casing Size 8	NA 85/8 23	Coment	eft in Casing 15		Water Gal/SK				Other		
			ement PSI								
					Bump Plug to				3PM		
Remarks:	SAFETY M	ecting: Bis	st w/ 3% CAC	CASING	. BREAK (TIR	culatio	in w/	5 BBC	Fresh o	water.
Mixed 12	O SKS CLAS	s A" Cemer	st w/ 3% CAC	LZ 201	1. Gel @ 19	1.8 #	/9AL =	28 BAL	5/VRRY.	DISPIA	re w/
12.7 866	Fresh WA	ter. Shut	CASING IN. G	good C	ement Rez	LURN	s to	SURFAC	2 = 18	be Stor	Ry to
		. Rig down		000							7.
777 000	Campiere	- 7									
					4					***	
-						-10				100	
			Property and the second				t t			18	
								Т			
Code C	ty or Units	Description of	of Product or Serv	ices				Uni	t Price	T	otal

Code	Qty or Units	Description of Product or Services	Unit Price	Total
: 101	1	Pump Charge	840.00	840.00
107	70	Mileage	3.95	276.50
200	120 sks	Class A Cement	15.00	1800.00
205	340 #	CACLZ 3%	.60 #	204.00
206	225#	Gel 24	.20 *	45.00
108 B	5.64 TONS	Ton Mikage 70 miles	1.35	532.98
1000	0.01 70%3	Town armente to mines		700.00
				New York
		THERE	Sub TOTAL	3698.48
		THANK YOU 215%	Sales Tax	146.50
	<u> </u>		Oales lax	
uthoriz	ation WITNESS	red By Duke Coultan Title C&G DR/9 Toolpusher	Total	3844.98

Elite Cementing & Acid Service, LLC 810 E 7th, PO Box 92 Eureka, KS 67045



Date	Invoice #
10/28/2014	1878

Bill To		
Scott's Production	nd ord versions in president members from any service and such as execution of version and execution of version of version and execution of version of version and execution of version and executio	
PO Box 136		
Roxbury, KS 67476		

Job Date	10/27/2014		
Lease I	nformation		
Bec	ker #a1		
County	McPherson		
Foreman	KM		

		Terms	Net 30
Description	Qty	Rate	Amount
Cement Pump-Longstring	1	1,050.00	1,050.00
Pump Truck Mileage (one way)	70	3.95	276.50
Cement Pump-Longstring	1	1,050.00	1,050.00
Thick Set Cement	175	19.50	3,412.50T
KolSeal	875	0.45	393.75T
Pozmix Cement 60/40	385	12.75	4,908.75T
Gel Bentonite	2,000	0.20	400.00T
Pheno Seal	770	1.25	962.50T
Ton Mileage-per mile (one way)	1,832.59	1.35	2,474.00
5 1/2" Type A Packer Shoe (7 3/4 x 8)	1	1,400.00	1,400.00T
5 1/2" Float Collar Body Only	1	225.00	225.00T
5 1/2" DV Tool with Plugs	1	3,325.00	3,325.00T
5 1/2" Cement Basket	2	225.00	450.00T
5 1/2" Centralizer	5	48.00	240.00T
5 1/2 " Stop Collar	1	30.00	30.00T
Discount on Services		-242.52	-242.52
Discount on Materials		-787.38	-787.38T
	Cement Pump-Longstring Pump Truck Mileage (one way) Cement Pump-Longstring Thick Set Cement KolSeal Pozmix Cement 60/40 Gel Bentonite Pheno Seal Ton Mileage-per mile (one way) 5 1/2" Type A Packer Shoe (7 3/4 x 8) 5 1/2" Float Collar Body Only 5 1/2" DV Tool with Plugs 5 1/2" Cement Basket 5 1/2" Centralizer 5 1/2 " Stop Collar Discount on Services	Cement Pump-Longstring 1 Pump Truck Mileage (one way) 70 Cement Pump-Longstring 1 Thick Set Cement 175 KolSeal 875 Pozmix Cement 60/40 385 Gel Bentonite 2,000 Pheno Seal 770 Ton Mileage-per mile (one way) 1,832.59 5 1/2" Type A Packer Shoe (7 3/4 x 8) 1 5 1/2" Float Collar Body Only 1 5 1/2" DV Tool with Plugs 1 5 1/2" Cement Basket 2 5 1/2" Centralizer 5 5 1/2 " Stop Collar 1 Discount on Services	Description Oty Rate Cement Pump-Longstring 1 1,050.00 Pump Truck Mileage (one way) 70 3.95 Cement Pump-Longstring 1 1,050.00 Thick Set Cement 175 19.50 KolSeal 875 0.45 Pozmix Cement 60/40 385 12.75 Gel Bentonite 2,000 0.20 Pheno Seal 770 1.25 Ton Mileage-per mile (one way) 1,832.59 1.35 5 1/2" Type A Packer Shoe (7 3/4 x 8) 1 1,400.00 5 1/2" Float Collar Body Only 1 225.00 5 1/2" DV Tool with Plugs 1 3,325.00 5 1/2" Cement Basket 2 225.00 5 1/2" Centralizer 5 48.00 5 1/2 " Stop Collar 1 30.00

We appreciate your business!

Phone #	Fax#	
620-583-5561	620-583-5524	
E-ma	ail	
rene@elitecem		

Subtotal	\$19,568.10
Sales Tax (7.15%)	\$1,069.65
Total	\$20,637.75
Payments/Credits	\$0.00
Balance Due	\$20,637.75

810 E 7TH PO Box 92 EUREKA, KS 67045 (620) 583-5561

Authorization



Cement or Acid Field Report 1878 Ticket No.

Foreman Kevin McCoy

Camp EUREKA

Total

API #15-	113-21373						<u> </u>					
Date	Cust. ID#		e & Well Number		Section	To	wnship	Range		County		State
10-27-14	1124	Recker	2 # A1		4	1	75	100		mephers	·0~	Ks
Customer				Safety	Unit #		Driv	er		Unit #		Driver
· Scott's	Production	nu 110		Meeting	104	in the	Alan	M.				
Mailing Address	1 20000111	0/3, 220		Km	110	1.12/14	Scott	w.				
P.O. Bo	13/			Am	112		John	S.	10 PM			
P.O. BO	X 136			1500	113	1	Joey	K.	19		1	
City		State	Zip Code	JK	The second		1					
Roxhue	,	1/5	67476	"					10.5			

Slurry Vol. 122 BbL Stage # 2 Tubing _ Job Type Longstring Hole Depth 3538 Slurry Wt. 12.7 # Stage 1 Casing Depth 3357.77 G.L. Hole Size 77/8 Drill Pipe_ Casing Size & Wt. 51/2 15.50 Cement Left in Casing 3.5 Water Gal/SK __ Other ____ Displacement 57 566 5/492 # 2 Displacement PSI 750 Bump Plug to 1800 PSI

Remarks: SAFETY Meeting: TD 3538 KB. 51/2 Set @ 3357.77 G.L. W/ PACKER Shoe. DV Tool Set @ 2091.57 Below G.L. Rigup to 5/2 CASING. Set PACKER Shoe @ 1500 PSI. Pump 15 BAL FRESH WATER. MIXED 175 SKS THICK Set Coment W/ 5 # KOL-SEAL ISK @ 13.7 /gal = 61 BBL S/URRY. WASh out Pump of Lines. Shut down. Release LATCH down Flex Plug. Displace Plug to SEAT w/ 82.5 BUL FRESH WATER. FINAL Pumping PRESSURE 750 PSI. Bump Plug to 1250 PSI. Release PRESSUR. Drop TRIP Bomb. WAIT 8 MINS. OPEN DU Tool @ 1300 PSI. CIRCUlate 10 BBL CEMENT Sturry OFF Top of DV Tool w/ mod Pomp. CIRCULATE 2 HES W/ mud pomp. Stage 2 Pump 5 Bbl Fresh water, Mixed 385 sks 60/40 Pozmix Coment w/ 6% # 19AL = 122 Bbl Sturry. Wash out Pump & Lines, Shut down. Release Closing Plug, Displace to Sept w/ 51 Bbl Fresh WATER. FINAL PUMPING PRESSURE 750 PSI. Close DV Tool@ 1300 PSI. to 1800 PSI. Release PRESSULE. NO Flow BACK. Tool Closed. 6 Bbl Cement Sturry to Pat. BASKets ON TOP OF 14 29. DV TOOL ON TOP OF

Qty or Units Description of Product or Services **Unit Price** Total Code **Pump Charge** 1050.00 C 102 1050.00 Mileage 276.50 C 107 70 3.95 1050.00 1050.00 C 102 THICK Set CEMENT 3412.50 201 175 SKS 19.50 875 # KOL-SEAL 5 #/SK 393.75 45 207 C 203 385 5KS 60/40 Pozmix Cement 12.75 4908.75 2000 # C 206 GeL 6% . 20 400.00 Pheno SEAL 2 # 770 1.25 962.50 c 208 1.35 2474.00 Ton MileAge 70 Miles C 108 B Type A" PACKER Shoe 1400.00 1400.00 C 752 51/2 FIGAT COLLAR BODY ONLY 225.00 C 681 225.00 51/2 DV Tool (Stage Collar 3325.00 3325.00 C 776 Cement BASKets 225.00 450.00 C 604 51/2 × 71/8 Centralized c 504 48.00 240.00 C 781 30.00 30.00 Sub TotAL 20,598.00 HANK You Sales Tax 7.15 1125.95 21,723.95

_ Title _

Elite Cementing & Acid Service, LLC 810 E 7th, PO Box 92 Eureka, KS 67045



Date	Invoice #
11/26/2014	2015

Bill To		
Scott's Production		
PO Box 136		
Roxbury, KS 67476		
•		
Customer ID#	1124	

Job Date	11/20/2014
Lease I	nformation
Bec	ker A1
County	McPherson
Foreman	RM

			Terms	Net 30
Item	Description	Qty	Rate	Amount
A101	Acid Pump Charge (1500 Gal)	1	800.00	800.00
A107	Pump Truck Mileage	90	3.95	355.50
A205	15% HCL Acid	1,500	1.90	2,850.00
A213	Acid Inhibitor	2	40.00	120.00
A210	Surface Tension Reducer	3	32.00	96.00
A214	Non Emulsifier	7.5	30.00	225.00
A215	Iron Control	7.5	36.00	270.00
4208	ABF	55	2.90	159.50
D103	Discount on Services		-57.77	-57.77
0104	Discount on Materials		-186.03	-186.03
			NAME OF THE PROPERTY OF THE PR	
			Manuscript of the Control of the Con	
			on the same of the	
			e' againg a gain South	

We appreciate your business!

Phone #	Fax#	
620-583-5561	620-583-5524	
E-ma	ail	
rene@elitecem	antina aan	

Subtotal	\$4,632.20
Sales Tax (7.15%)	\$0.00
Total	\$4,632.20
Payments/Credits	\$0.00
Balance Due	\$4,632.20

Pd 12-1-14 CK# 8044

810 E 7TH PO Box 92 **EUREKA, KS 67045** (620) 583-5561



Cement or Acid Field Report								
Ticket No.	2015							
Foreman	Russell mary							
Camp _E	LIEKA							

Date	Cust. ID# Lease & Well Number			Section	Township		Range		County		State	
11-20-14	1124	Becker	#A 1		4	1	7 5	1 W		mePherson	7	KS
Customer			Safety	Unit #		Driver		Unit #	Driver			
Scott's ProDuction, LLC			Meeting	101		A-B						
Mailing Address			RM									
P.O. BOX 136			AB									
City		State	Zip Code									
Rox burg	1	KS	67476									
Job Type <u>A c N</u> Hole Depth <u>3538</u> Slurry Vol Tubing <u>2 ³/8</u>												
Casing Depth 3357 G.L. Hole Size 778 Slurry Wt. Drill Pipe												
Casing Size & Wt. 5 15.5 Cement Left in Casing Water Gal/SK Other												
Displacement 135 86 Displacement PSI Bump Plug to BPM 9.8 86 M						1						
Remarks: SAfety meeting, Rig up to 5'2 ANNIAS of Tubing + Bit A+ T.D 3538												
BACK WASH ROTARY MUD OUT W/ 96 Bb1 WATER. Rig up to 23/8 Tubing Spot									oT			
500 9 Allowis mul Acily IN Open Hole 3538- 3357 = 181 Lost circulation									lation			
WI ACID IN Open Hole. INCIPASE RATE to 2.5 BPM No CITCUlAtion.												
Pull Tubing, Rig up to 5/2 CASING TUMP 1000 GAllops Acid Flish w/ 125)			
PUI At 9.8 BPM 300 I ISDP O WELLOW UNC At 1.8 BPM through Elite PLMP												
Truck = 2600 Bbl Perl DAY. JUB COMPlete, TEAR DOWN.												
Thawki												
Riss + Alax												

Code	Qty or Units	Description of Product or Services	Unit Price	Total
A-101	1	Pump Charge	800.00	800.00
A-107	90	Mileage	3.95	355.50
A-205	1500	gallons 15% H.C.L. Acil	1.90	2,850.06
A 213	3	gallon's Acit Inhbite	40.00	120.00
A-210	3	gallous Surface Tension ReDucer	32.00	96.00
A-214	71/2	gallois Now Emulsifer Agen	30.00	225.00
9-215	7 1/2	GAILOUS TION SEQUENTIANT AGENT	36.00	270.00
A-208	55 ^{tl}	ABF mix w/ SOU MUD ACID FOR OPEN	2.90	159.50
		Hule SPOT		
		590 < 343.807		
		# 11.000		-
		114632.20		
			SLO TOTAL	4.87k.00
			Sales Tax	Ø
Authoriz	ration by Je	off Scott Title OWNER'S	Total	4876.00